
         

Ph: +61 2 9725 1728      Email: sales@plazmaman.com 

PLAZMACLAMP TO LS 102MM THROTTLE BODY ADAPTOR     

Fitting guide 

NOTE: IF USING A 103MM THROTTLE BODY, PLACE THE 4 SMALL SPACERS INSIDE THE BOLT HEAD COUNTERBORES 

ON THE THROTTLE BODY BEFORE BEGINNING INSTALLATION. IF USING A 102MM THROTTLE BODY, THESE 

SPACERS ARENT REQUIRED. 

1. Attach and tighten the mounting ring (part A) to the throttle body, using the M6 x 70 bolts. The bolts 

go through the throttle body and mounting ring and straight onto your manifold flange. 

2. Place the oring in the groove on the underside of the Plazmaclamp adaptor (part B). 

3. Position the adaptor in the correct orientation, and tighten using the M6 x 16 bolts. 
 

 

 

Ph: +61 2 9725 1728      Email: sales@plazmaman.com 

PLAZMACLAMP TO LS 102MM THROTTLE BODY ADAPTOR     

Fitting guide 

NOTE: IF USING A 103MM THROTTLE BODY, PLACE THE 4 SMALL SPACERS INSIDE THE BOLT HEAD COUNTERBORES 

ON THE THROTTLE BODY BEFORE BEGINNING INSTALLATION. IF USING A 102MM THROTTLE BODY, THESE 

SPACERS ARENT REQUIRED. 

1. Attach and tighten the mounting ring (part A) to the throttle body, using the M6 x 70 bolts. The bolts 

go through the throttle body and mounting ring and straight onto your manifold flange. 

2. Place the oring in the groove on the underside of the Plazmaclamp adaptor (part B). 

3. Position the adaptor in the correct orientation, and tighten using the M6 x 16 bolts. 
 

 

 

         

Ph: +61 2 9725 1728      Email: sales@plazmaman.com 

PLAZMACLAMP TO LS 102MM THROTTLE BODY ADAPTOR     

Fitting guide 

NOTE: IF USING A 103MM THROTTLE BODY, PLACE THE 4 SMALL SPACERS INSIDE THE BOLT HEAD COUNTERBORES 

ON THE THROTTLE BODY BEFORE BEGINNING INSTALLATION. IF USING A 102MM THROTTLE BODY, THESE 

SPACERS ARENT REQUIRED. 

1. Attach and tighten the mounting ring (part A) to the throttle body, using the M6 x 70 bolts. The bolts 

go through the throttle body and mounting ring and straight onto your manifold flange. 

2. Place the oring in the groove on the underside of the Plazmaclamp adaptor (part B). 

3. Position the adaptor in the correct orientation, and tighten using the M6 x 16 bolts. 
 



 

 

 
      

 


